)

6 tas de 5=
6 foisb = .
6x5=.

. tfasde b = .
. foisb=.
. XxXb=,

\o . tasde 5= .
. foisb =
xb=
Ooo 0_"0 an Ooo \ :0: :0: :°: :":
® o I ® o > o 2 2110 o ™
k‘ - ) \'o s 2 - —
.Tasde 5= / . fasde 5=
....... tas do 5 | - TOIS 5= otasde5 | - foisB=.
X 5= . xb5=.
4 ) (s > o s o] o)
[Eo: Eo: / ....... bao de 5 o‘oo 0_00 o_oo o‘°°
FE T =) [ EF
s 2 v 2 \0_0 LQ - - J

. tas de b =.
. foisb=.
. xXxb=.




2 tasde b

4 tasde b 8 tas de b
2 foisb=. 4 foisb =. 8 fois b =.
2xb =, 4x5 =, 8x 5=,
3 tasde b 6 foisb =. 9 fois 5 = .
3x5-=. 6x5=. 9x 5 =
5 tasde 5 1 fois 5= 7 fois B =.
5x5 =. 1x5-=. 7x5 =




4x 5carrés= ... carrés 2x Bcarrés= ... carrés 8 x 5 carrés = ......... carrés
3x Bcarrés= ... carrés 6 x Bcarrés= ... carrés 7x 5 carrés = ... carrés
9x Bcearrés= ... carrés 5 x B carrés = carrés 10x 5 carrés = ... carrés







bx5=.

] 5| 5
'. .:’ 4 tas de b 41’@0&,@5: \_v_/
4X5:. 4
S bas de 5= . | 45
5X5:.
5 5|5







™M o

15

3x5=15

"
0 WO

™M o




10

|l W[ OW| N | N

2 x5 =
7 x5 =
5x5 =
9 x5 =
1 x5-=
4 x5 =
8 x5 =
6 x5 =
10 x5 =
3x5 =
Oxb=




